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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1-  The number of unemployed workers —------- between two and three million.

1) emerges 2) regulates 3) fluctuates 4) distributes
2-  Toxic chemicals tend to --————- in the body.

1) convene 2) enforce 3) segregate 4) accumulate
3-  In some countries, it is a -—----—- that guests wear black clothes.

1) strand 2) convention 3) framework 4) participation
4-  We do not know which behavioral ~——--—---- are inborn and which acquired.

1) traits 2) conducts 3) schedules 4) requirements
5-  The poems are supposed to be by Milton, but they are actually of doubiful ——----- .

1) revision 2) transition 3) controversy 4) authenticity
6- The main features of this theory are clearly --——-—— in the first chapter of this book.

1) involved 2} exceeded 3) delineated 4) comprised
7-  The replies to the questionnaire -—————-- broadly into there groups.

1) assign 2) segment 3) transmit 4) incorporate
8- Research shows that it is not divorce ——--—--— that harms children, but the continuing conflict

between parents.

1) per se 2) ad hoc 3) vis-a-vis 4) per capita
9-  They have identified serious ——--—ee-- in the design of the solar-powered car.

1) ruins 2) bidding 3) flaws 4) prohibition
10- You are more - to illness when you are tired.

1) prone 2) tense 3) definite 4) explicit

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

All living things need 1o be protected from heat, cold and weather conditions, injury, other
animals and germs. The skin (11) -=---n--- this work of protection. Birds are greatly helped by an
outer covering of feathers'and most mammals (12) ---------- a coat of fur. Human beings have hair
on their bodies but not enough to act as a protection. However, the skin, although (13) ---------- with
clothes for warmth in most elimates, does a great deal to keep the body healthy, and, (14) --=--am---
cut or pierced, is practically germ-proof. The whole of the human body is covered by skin, (15) -----
in thickness'aecording to the part of the body that it covers. It is thinnest over the expcsed part of
the eveballs and thickest on the soles of the feet.

11- 1) doesa lot 2) makes much 3} makes lots of 4) does much of

12- 1)in 2y by 3} into 4% from

13- 1) covering 2} it covers 3) it has to cover 4) it has to be covered
14- 1) unless 2) though 3) it was 4) to be

15- 1) that varies 2) which varies 3) that it varies 4} which it varies
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Part C. Readmg Cumprehensmn

Directions: Read the following three passages and choose the best choice (1), (2), (3) ar (4). Then
| mark it on your answer sheet.

PASSAGE 1:

Employers can obtain the skilled IT workers they need either by hiring ‘workers who already
have the skills or by training workers in those skills. However, as time has become an increasingly
important competitive factor for many employers of IT workers, the time available to retrain current
employees or train new employees in the skills needed for new projects or job openings has
diminished. In this environment, many companies have concluded that they cannot afford the time,
risk, and uncertainty associated with “making” the employees they need through training or
retraining,

Instead, many employers of IT workers are pursuing a “buy™ strategy, seeking employees who
already have the needed skills and experience and can “hit the ground running.” While buying skills
on the open market can require paying a premium for them, companies are often able to access the
most current skills and get a fully trained worker while reducing or @ven climinating the cost of
training. Buying skills can also increase staff flexibility and reduce risks associated with uncertainty
about future skill needs.

Surveys by the Information Technology Association of America and the WSA (a large state-
wide technology trade association based in Seattle) suggest that, when faced with difficulties in
finding workers with needed skills, employers often do not consider training a high priority as a
coping strategy.

Employers can contribute to IT workforce training by providing financial support to pay the
costs of training, allowing workers to participate in training on company time, and providing
training resources. However, employers’ ability or willingness to provide this support varies. For
example, some organizations do not have time to allow workers to train on company time, while
others actively encourage and support training opportunities.

The passage is mainly about - .

1) the IT workforce, education, and skills

2) up-to-date employers with real-world expenience

3) greater worker retention in IT-related industries

4) the role of employers in meeting the demand for IT skills
One possible advantage of buying skills is
1) reducing uncertainty about skill needs 2) providing training resources

3) increasing staff flexibility and risks 4) making the employees companies need
Which of the following statements is NOT true, according to the passage?

1) Increased staff flexibility is an advantage of the buy strategy.

2) Employers should pay money to provide insurance for workers with needed skills.

3) Companies are willing to provide training to their employees to become fully qualified.

4) Employers prefer job candidates who have the exact skill fit and require no additional training.
The word “diminished” in line 5 means ------——--- .

1) removed 2} reduced 3) rejected 4) restricted

It is stated in the last paragraph that -———-- .

13 IT developers try to reduce the risk presented by new hires

2) the IT labor market has increased the risk of training investments

3) employers do everything they can to reduce the cost of training

4) employers are different inctheir attitudes to training opportunities

PASSAGE 2:
Along with the potential to improve lives and organizations, 1T projects can become risky,
costly, unproductive mistakes. As we have described in numerous reports and testimonies, federal

IT projects too frequently incur cost overruns am:l schedule slip 'Dagﬁs Whllf: -::n::mmbutmg little to
mission-related cusdpd wdlw g 90 dw yf Wl )5 Ol
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The Clinger-Cohen Act of 1996 was enacted to address many of the problems rélated to federal
IT management. It requires federal agencies to focus more on the results achieved through IT
investments while concurrently strcamhnmg the IT acquisition process. This act alse intreduced
maore rigor and structure into-how agencies select and manage IT; pmjﬂtts Among other things; the
head of each agency is required to implement a process for max:mmng the value of the agency’sIT
investments and assessing and managing the risks of its IT acquisitions.

In 1997 we developed guidance, based primarily on the Clinger-Cohen Act, that provides a
method for evaluating and assessing how well a federal agency is selecting and ‘managing its IT
resources and identifies specific arcas where improvements canobe.made. The Information
Technology Investment Management (ITIM) framework enhances this puidance by identifying
critical processes for successful IT investment and organizing these processes into a framework of
increasingly mature stages. This shift reflects both the maturation of the thinking in the area of IT
investment management and the feedback we received from organizations based upon their

experiences creating their IT investment mechanisms and processes. Such a maturity framework
can be used to analyze an organization’s IT.

The paragraph preceding the passage most probably discusses

1) the problems related to IT management 2) the advantages of mfunnatmn technology

3) investments in information technology 4) improvements in organizational performance
The head of each federal agency is responsible for
1) discovering physical resource relationships

2} identifying processes for successful IT investment
3) locating and correlating relevant data and information

4) providing a framework for analyzing the federal agency’s IT resources

The word ‘its” in line 12 refers to -——-—- ?

1} method 2) guidance 3) agency 4) Clinger-Cohen Act
The second paragraph is concerned with ———,

1) the ideas about the Clinger-Cohen Act

2) federal information technology management

3) the requirements of the Clinger-Cohen Act

4) the risks of information technology investments

According to the passage, the ITIM framework ~—-—-.

1) focuses on the outcomes of IT investments

2) iz aimed at creating IT investment mechanisms

3) provides appropriate assistance to organizations

4) organizes processes for IT investment into a framework

L

PASSAGE 3:

The term “Internet™ made its first appearance in a research paper written by Vinton Cerf and
Robert Kahn in 1974."1t described a “network of networks” that would link together computers
across the country, and eventually the world. Recognizing the strategic importance of this concept,
the Department of Defense, via its research projects agency, ARPA, funded networking research for
many years. The evolution ef the Internet was overseen by the Internet Engineering Task Force
(IETF), and organization of volunteers that codified various standards for technological interoper-
ability. By 1986, when the National Science Foundation wanted to provide access to five new
supercomputer centers, the Internet technology was sufficiently mature technology to deploy for
this purpose. The NSF called its new network program the NSFNET, and it quickly became the’
principal infrastructure of the Internet.

As the Internet grew, it.became clear that the MSF could no longer play arcentral role in its
management and it searched for a way to spin off responsibility for backbone maintenance. These
discussions were particularly intense during 1990-92 and finally concluded that privatization of the.
Internet was the right path to follow. On April 30, 1995, the National Science Foundation stopped
funding the NSFMET backbone. Though dire predictions had been made about the Internet grinding

to a halt, this privatization wem off without ‘a thLh whmh 153&{1‘011’( to the c:a,:.efu] planning and
coordination by %Mﬂ” g o "‘*") G"" ) wils




26- The best title for this passage could be -——-,
1) Origins and evolution of the Internet 2) The Internet as enabling technology
3) The rapid adoption of the Internet 4) Founding the World Wide Web

27- The word “overseen™ in line 5 could be replaced by ——--,
1) supervised 2) confirmed 3) specified 4) detected

28-" According to the passage, between 1990 and 1992 ------ —.
1) privatization of the infrastructure of the Internet was under discussion
2} The National Science Foundation was working on five supercomputer centers
3) The NSF was discussing its plans for the future of the Internet management
4) Cerf and Kahn were conducting a research study on the possible connection between networks

29- The Department of Defense financially supported networking research
1} to connect computers across the U.S.

2) to facilitate the private use of the Internet
3) to gain access to supercomputer centers across the world
4) to gain military benefits from the connection between computers

30- By the statement “this privatization went off without a hitch™ in the last line, the author

means privatization -

1) was hugely successful 2)cost a lot of money
3) was carefully planned 4) took a long time to finish
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